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Traditional Costing Systems

e Product Costs
o Direct labor
o Direct materials

° Factory Overhead
* Period Costs

> Administrative expense

> Sales expense

Appear on the income
statement when
goods are sold, prior
to that time they are
stored on the balance
sheet as inventory.

Appear on the income
statement in the
period incurred.



Traditional Costing Systems

\

e Product Costs

o Direct labor
—

o Direct materials

Direct labor and direct
materials are easy to
trace to products.

The problem comes

> Factory Overhead | <—— Withfactory

* Period Costs
> Administrative expense

> Sales expense

overhead.



Traditional Costing Systems

 Typically used one rate to allocate
overhead to products.

e This rate was often based on direct labor
dollars or direct labor hours.

e This made sense, as direct labor was a
major cost driver in early manufacturing

plants.
T
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Problems with Traditional Costing

Systems

e Manufacturing processes and the
products they produce are now more
complex.

 This results in over-costing or under-
costing.

> Complex products are not allocated an
adequate amount of overhead costs.

> Simple products get too much.



Today’s Manufacturing Plants

e Are more complex
* Are often automated
* Often make more than one product

* Use proportionately smaller amount of
direct labor making direct labor a poor
allocation base for factory overhead.




When the manufacturing process is
more complex:

» Then multiple allocation bases should be
used to allocate overhead expense.

» In such situations, managers need to

consider using activity based costing
(ABC).



ABC Definitions

» Activity based costing is an approach for
allocating overhead costs.

* An activity is an event that incurs costs.

* A cost driver is any factor or activity that
has a direct cause and effect relationship
with the resources consumed.

= =



ABC Steps

e Overhead cost drivers are determined.
 Activity cost pools are created.

° A activity cost pool is a pool of individual
costs that all have the same cost driver.

e All overhead costs are then allocated to
one of the activity cost pools.



ABC Steps:

 An overhead rate is then calculated for
each cost pool using the following
formula:

> Costs in activity cost pool/base

> The

e Over
each
each

base is, of course, the cost driver

nead costs are then allocated to
broduct according to how much of

vase the product uses.



Let’s work an example ...

* Assume that a company makes widgets

* Management decides to install an ABC
system




Overhead Cost Drivers are

Determined:

* Management decides that all overhead
costs only have three cost drivers—
sometimes called activities (obviously a
simplification of the real world)
> Direct labor hours
> Machine hours

> Number of purchase orders



All overhead costs are then allocated to one of the activity cost
pools.

Direct Labor

General Ledger

Payroll taxes $1,000

Machine maintenance $500

Purchasing Dept. labor $4,000

Fringe benefits $2,000 Machine Hours
Purchasing Dept. $250

Supplies

Equipment $750

depreciation

Electricity $1,250 # of Purchase Orders
Unemployment $1,500

insurance f

Which overhead costs do you
think are driven by direct labor
hours?




All overhead costs are then allocated to one of the activity

cost pools.

General Ledger

Direct Labor

$1,000
2,000
1,500

$4,500

Machine Hours

insurance

Payroll taxes $1,000
Machine maintenance $500
Purchasing Dept. labor $4,000
Fringe benefits $2,000
Purchasing Dept. $250
Supplies

Equipment $750
depreciation

Electricity $1,250
Unemployment $1,500

# of Purchase Orders

Overhead driver by direct labor

hours




All overhead costs are then allocated to one of the activity

cost pools.

Direct Labor

General Ledger

insurance

Payroll taxes $1,000 $1,000
2,000

Machine maintenance $500 1500
Purchasing Dept. labor $4,000 $4,500
Fringe benefits $2,000 Machine Hours
Purchasing Dept. 250

PP /750
Equipment $750 1,250
depreciation $2,500
Electricity $1,250 # of Purchase Orders
Unemployment $1,500

Which overhead costs are
driven by machine hours?




All overhead costs are then allocated to one of the activity

cost pools.

General Ledger

Direct Labor

$1,000
2,000
1,500

$4,500

Machine Hours

insurance

Payroll taxes $1,000
Machine maintenance $500
Purchasing Dept. labor $4,000
Fringe benefits $2,000
Purchasing Dept. $250
Supplies

Equipment $750
depreciation

Electricity $1,250
Unemployment $1,500

$ 500
750
1,250

$2,500

# of Purchase Orders

And finally, which overhead

costs are driven by # of

purchase orders?

250
$4,250




An overhead rate is then calculated for each cost pool:

Direct Labor
Again the formulas is:

$1,000
Costs in Activity Cost Pool/Base = rate 2,000

_1,500
Assume the following bases: $4,500

Machine Hours
Direct labor hours = 1,000

Machine hours = 250

Purchase orders = 100 $ 500

750
1,250

$2,500

# of Purchase Orders

The ABC rates are:

54,500/1,000 = 54.50 per direct labor hour
S4,000

$2,500/250 = 510 per machine hour 550
5$4,250/100 = $42.50 per purchase order $4 250




Overhead costs are then allocated to each product
according to how much of each base the product uses.

The ABC rates are:

$4,500/1,000 = $4.50 per direct labor hour
$2,500/250 = $10 per machine hour
$4,250/100 = $42.50 per purchase order

Lets assume the company makes two products, Widget A and Widget B:

Let’s also assume that each product uses the following quantity
of overhead cost drivers:

B?se Widget A Widget B Total Notice that
Direct labor hours 400 600 1,000 .

. all base units
Machine hours 100| 150| 250 | . e
Purchase orders 50| 50| 100/ ) ,ccounted

for.



Now let’s allocate overhead to Widget

A:

Base A Rate Allocated

Direct labor hours

400 S 4.50 $ 1,800.00

\ J
|

Just like we learned in Accounting 2020, we multiply
the base used by the rate.

In this case, 400 hours used to make Widget A is
multiplied by the rate of $4.50. This gives total overhead

applied for this activity cost pool of $1,800 to
Widget A.



Continuing the calculation:

Let’s do the same thing for the other two rates, to get the total amount
of overhead applied to Widget A:

Widget A Base Rate Allocated
Direct labor hours 400 S 4.50 S 1,800.00
Machine hours 100/ S 10.00 S 1,000.00
Purchase orders 50 S 42.50 S 2,125.00
Total $ QZSRD

\_/




Now let’s allocate overhead to
Widget B:

Let’s do the same thing for the other two rates, to get the total amount
of overhead applied.

Widget B Base Rate Allocated
Direct labor hours 6000 S 4.50 $2,700.00
Machine hours 1500 S 10.00 $1,500.00
Purchase orders 500 S 42.500 $2,125.00
Total (S 6,325.00D

S ——

The original overhead to be applied was $4,500 of direct labor
driven overhead + $2,500 of machine hour driven overhead + $4,250 of
purchase order driven overhead = $11,250 total overhead to apply.

The actual overhead allocated was $4,925 for Widget A + $6,350 =
$11,250 overhead applied.



Same Problems Traditional Method

» Okay, so what if we had allocated the
overhead in this company using traditional
cost accounting allocation.

e Let’s assume the base is direct labor
hours.

* What would be the amount allocated to

each product?

A
94

N



Calculation

General Ledger

overhead we were
amount is $11,250

the previous slide.

I Total direct

(C 1,000 ) labor hours

0 are 1,000, also

Payroll taxes $1,000 | —
Machine maintenance $500
Purchasing Dept. labor $4,000 This the total
Fringe benefits $2,000
given, the total
Purchasing Dept. $250 —
Supplies as explained on
Equipment $750
depreciation
Electricity $1,250
Unemployment $1,500
insurance
Base Widget A Widget B
Direct labor hours 400 600
Machine hours 100 150
Purchase orders 40| 60| 100

given earlier.



Calculation

e The rate would be:
> OH Rate = Overhead/Direct Labor Hours
> $11,250/1,000 = $11.25 per hour.

» Applying overhead using this rate:
> Widget A: 400 hours x $11.25 = $4,500
> Widget B: 600 hours x $11.25 = $6,750
o Total overhead applied = $11,250



Comparison

Widget A Widget B Total
Traditional $4,500 $6,750 $11,250
Method
Activity Based $4,925 $6,325 $11,250
Costing
Difference -$425 $425 -0-

Which is more accurate?

ABC Costing!

Note these are total costs. To get per-unit costs we would divide by the
number of units produced.




When do we use ABC costing!?

- When one or more of the following
conditions are present:

- Product lines differ in volume and
manufacturing complexity.

- Product lines are numerous and diverse,
and they require different degrees of
support services.

- Overhead costs constitute a significant
portion of total costs.



When do we use ABC costing!?

- The manufacturing process or number of
products has changed significantly—for
example, from labor intensive to capital
Intensive automation.

- Production or marketing managers are
ignoring data provided by the existing
system and are instead using “bootleg”
costing data or other alternative data
when pricing or making other product
decisions.



Additional Uses of ABC

* Activity Based Management (ABM)

> Extends the use of ABC from product costing
to a comprehensive management tool that
focuses on reducing costs and improving
processes and decision making.




ABM

o ABM classifies all activities as value-added
or non-value-added.

> Value-added activities increase the worth of a
product or service to the customer.

Example: Addition of a sun roof to an automobile.

> Non-value added activities don'’t.

Example: The cost of moving or storing the
product prior to sale.



The Objective of ABM ...

e To reduce or eliminate non-value related
activities (and therefore costs).

» Attention to ABM is a part of continuous
improvement of operations and activities.

Iy



Possible Cost Drivers

e Machine hours

e Direct labor hours

* Num
* Num
* Num
* Num
* Num

ber of setups

ber of proc
ber of purc
ver of emp

ucts
nase orders

oyees

ver of square feet



Common Classification System

o Unit-level activities.Activities performed
for each unit of production.

e Batch-level activities. Activities performed
for each of bath of products.

e Product-level activities. Activities
performed in support of an entire
product line.

e Facility-level activities. Activities required
to sustain an entire production process.



Common Classification System

e This system provides a structured way of
thinking about relationship between
activities and the resources they
consume.




Facility Sustaining Activities

* Have no good cost driver

* May or may not be allocated to products
depending upon the purpose for which
the information is to be used

* Examples
> Housekeeping

° Factory yard maintenance



Overhead Cost

Chapter: 4




Meaning of Overhead Cost

» Overhead is the aggregate of indirect
materials, indirect wages and indirect
expenses.

» It can not be conveniently allocated to
cost unit.




] Administration Overheads
Manufacturing Overheads

=
=
=

1

1

Classification of Overhead Costs

Function

l

Factory building rent
Factory electricity

Factory indirect material like
grease, oil and spare clothes
and cotton

Factory store keeper salary

Factory supervisor and peon
and watchmen's salary.

l

— Salaries of office
employees ‘
=  Office lighting and
electricity
= Directselling costs
—= Repair and Ex: Salaries to sales staff, Communication
depreciation of office expenses ele. _
assets and vehicles == Advertisement and sales promotion
Ex; Participation in exhibitions, Samples,
Displays ete.
=  Legal Expenses = Creditand collection

Ex: Bad debts, Follow-up forcoliection, legal
costs efe

C—=> SalesAdministration
Ex: Sales invoicing, Office expenses elc.

On the Basis of Production Activity

T

Fixed \iariable Semi-Variable

l

Selling and Distribution Overheads

Distribution costs

= Warehousing
Ex: Secondary packing, warehouse rent,
insurance of stocks efc.

=) Transportation
Ex: Freight & Carriage, Transit insurance etc.

—» Administration
Ex: Distribution office expenses efe



Segregation of Semi-Variable Cost
1. High and low Points Method
Variable element P. U.

= Diff. in semi-variable costs/ Diff. in Output

2. Method of Averages
=Diff in average cost/ Diff in average output

3. Scatter Diagram Method

4. Equitation Method




High and low Points Method

Variable

Rs.
160*
300+

Months Output Semi-Variable
(units) Overheads
Rs.
January 100 220
February 80 : 170
March 140 280
April 150 310
May 90 200
June 180 370
Calculate the amount of fixed, variable and total semi-variable expenses for the month.
Solution :
Taking the figures of February and April
Months Production Total Fixed
Semi-Variable
Expenses
February 80 170 10
April 150 310 10
Difference 70 140 . 20

.. Variable element is Rs. 2, i.e.,B"'T'O— = Rs, 2.

* Variable Overhead for Feb. = 80 x Rs. 2 = Rs. 160 and Fixed Overhead Rs. 10 (170 — 160).

260

+ And Variable Overhead for April =150 x Rs. 2 = Rs. 300 and Fixed Overhead Rs. 10 (310 - 300).

Total Semi-Variable Expenses = Rs. 170 + Rs. 310 = Rs. 480.



Overheads Distribution

Step 1 -> Classification of Overheads
Step 2 -> Collection of Overheads

Step 3 -> Allocation of Overheads
Step 4 -> Apportionment of Overheads

Step 5 -> Re-apportionment of service department
overheads

Step 6 -> Absorption of Overheads




Overhead Costs

Cost allocation

Production Dept.

Cost absorption

Units of production —=

General overhead
’/— Cost apportionment ﬂ
v W

Finishing Dept.

Cost absorption

Finished units




Distribution of
Overhead




Differences Between Allocation and Apportionment

Allocation

Apportionment

Means the allotment of Whole

item of cost to cost centers or cost
units

Means allotments of proportion

of items of cost to cost centre or
cost units

Deals with whole item of cost

Deals with only proportions of
items of cost

Cost is directly allocated to
cost centre or cost unit

Not directly allocated, but are
divided or apportioned to different
departments on suitable basis

Allocated when the cost centre
uses whole of the benefits of the
expense

Apportioned when cost centers
use only a proportion of the
benefits of the whole expenses

No bases are required for
allocation

Need a suitable base




Basis for Overhead Apportionment

Overheads common to all these departments Apportioned on some suitable basis

Rent, rates & taxes

Floor space occupied by each department , office, factory

Repair to Plant or Department,
Depreciation on office building

Plant or Department's Value or any asset's
Floor space occupied by each department

For Legal fees

No of cases handled as the basis

For Salaries of common staff

Ratio of salaries of departments as the basis

For Typist pool

No of documents typed as the basis

For General Lighting and electricity

No. of light points or Area or Units of Sub-meterin each Department

For Telephones

No. of extensions in a department

For Material handling

No. of material requisitions or Value of material issued

Power

H.P. Of Plant

Supervision, Employer's liability

No. of Employees

Fire Insurance

Value of Stock in any Department

Indirect Labour Cost

Total duty hours in any department

Canteen Service Cost and other welfare expenses

No. of Employees in Any Department

Transport Cost

No. of boxes or containers or weight of containers, hours of spending
vehicle in any department




Class Exercise

» The modern company has three production
departments viz. A, B and C and two service
departments (D and E).

» From the given figures apportion the costs to

\Igari_ous departments on the most equitable
asis.

» Assume the cost driver to be direct wages for
the service department.




Rs.
Indirect Materials 15,000
Indirect Wages 12,000
Depreciation on Machinery 20,000
Depreciation on Buildings 10,000
Rent, Rates and Taxes 10,000
Electric Power for Machinery 15,000
Electric Power for Lighting 300
General Expenses 21,000
Total 1,03,300
Items Total A B C D E
Direct Materials (Rs.) 60,000 | 20,000 10,000 19,000 6,000 | 5,000
Direct Wages (Rs.) 40,000 | 15,000 15,000 4,000 2,000 | 4,000
Value of Machinery (Rs.) 2,50,000 | 60,000 1,00,000 40,000 | 25,000 | 25,000
Floor Area (sq. ft.) 50,000 | 15,000 10,000 10,000 5,000 | 10,000
No. of Light Points 50 15 10 10 5 10
Horse Power of Machines 150 50 60 30 5 5
Labor Hours 15,000 5,000 5,000 2,000 1,000 | 2,000




Production Dept.

Service Dept.

Expenses Basis Total
A B C D E
Direct Materials Given 60,000 | 20,000 10,000 | 19,000 6,000 5,000
Direct Wages given 40,000 | 15,000 15,000 4,000 2,000 4,000
Indirect Material Direct Material 15,000 5,000 2,500 4,750 1,500 1,250
Indirect Wages Direct Wages 12,000 4,500 4,500 1,200 600 1,200
Dep. of Machinery Machine Value 20,000 4,800 8,000 3,200 2,000 2,000
Dep. of Building Floor Area 10,000 3,000 2,000 2,000 1,000 2,000
Rent, Rates, etc. Floor Area 10,000 3,000 2,000 2,000 1,000 2,000
Electric Power
For Machinery H.P. 15,000 5,000 6,000 3,000 500 500
For Lighting Light Points 300 90 60 60 30 60
General Expenses Labor Hours. 21,000 7,000 7,000 2,800 1,400 2,800
2,03,300 | 67,390 | 57,060 42,010 16,030 | 20,810
Expenses of Dep. D | |n ratio to
between A,B,C DirectWages | - 7,072 7,072 1,886 | (16030)
Expenses of Dep. E | Inratio to
between A,B,C Direct Wages | 9,180 9,180 2,450 (20810)
2,03,300 | 83,635 | 73,305 46,360 0000 0000




Example

* A factory has 3 production departments (P1, P2, P3) and 2 service
departments (S1 & S2). The following overheads & other information are
extracted from the books for the month of January 2012.

Expense Amount

Rent 6,000

Repair 3,600

Depreciation 2,700
Lighting 600

Supervision 9,000

Fire Insurance for stock 3,000
ESI contribution 900

Power 5,400

Particulars P1 P2 P3 S1 S2
Area sq ft 400 | 300 | 270 | 150 | 80
No. of workers| 54 48 36 24 18
Wages 18,000/15,000(12,000/ 9,000 | 6,000
Value of plant [72,000/54,000/48,000/ 6,000 | -
Stock Value |45,00027,000/18,000, - :
Horse power of
plant 600 | 400 | 300 | 150 | 50

Allocate or apportion the overheads among the various departments on suitable basis.




Accounting for
S overheads S

Secondary
apportionment

Allocate

ll-ll-lll-ll-ll-lll-;

——

Overhead Under/over
absorption absorption

| rates(OAR)




Absorption of Overheads

» The process of applying overhea

ds to the

cost units is known as levy or recovery of

overheads.

» Absorption involves the distribution of

overhead relating to a particular d

epartment

among the units produced in that ¢
during the relevant time period.

epartment



Steps
1. Computation of Overheads Absorption Rate

= Total Overheads of Cost Centre/ Total units in base

2. Application of Rate to Cost Units

Overheads Absorbed

= No. of Units of base in the cost X Overhead rate




Methods Of Absorption Of Overheads

Overhead Absorption Rate =

Total overheads of cost centre/ Total Quantum of base

METHODS

Percentage Of Direct Material Cost
Percentage of Direct Labour Cost
Percentage of Prime Cost
Direct Labour Cost
Machine Hour Rate
Rate Per Unit Of Production

SR NR



Methods of Overhead Absorption

Direct Material Cost Method
* Actual Overhead Cost / Direct Material Cost X 100
Direct Labour Cost Method g \
* Actual Overhead Cost / Direct Labour Cost X 100
Prime Cost Method
* Budgeted Overhead Expenses / Anticipated Prime Cost
Direct Labour Hour Method W \
* Overhead Cost / Direct labour Hours ‘
Rate Per Unit of Production Method
* Budgeted Overhead Cost / Budgeted Units of
Prod.uction > \
Sales Price Method
« Budgeted Overhead Expenses / Sales of Units of
Production
Machine Hour Rate Method
* Total Overhead Cost / Total Machine Hours



Types of Overhead Absorption Rates :

]1.Actual Rate Predetermined
2.Rate Moving Average Rate
3.Blanket Rate

4.Multiple Overhead Rate
5.Supplementary Overhead Rate
6.Frequency of Rate Revision




Under-absorption and Over-
absorption of Overhead

Under-absorption

If the amount absorbed is less
than the amount incurred , the

difference denotes under-
absorption.
It is also termed as 'under

recovery'

It may be due to

— Actual expenses exceeding the
estimate; and / or

- Qutput or the hours worked may
be less than the estimate

Over-absorption

If the amount absorbed is
more than the expenditure
incurred this would indicate
over-absorption, which goes
to inflate the costs.

Over-absorption is also formed
as 'over recovery'.

It may be due to

— Expense being less than
estimate; and / or

— Output or hours worked may
be exceeding the estimate




$

Overheads A
Absorbed overhead
Actual expenditure
> budgeted causes
under absorption
Budgeted overhead
Actual expenditure
< budgeted causes
over absorption
Budgeted activity Activity

> budgeted causes
Actual activity over absorption
< budgeted causes

under absorption



Questions and Answers

.
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Fallowing futher fnfor ption ia avallable -

(] "
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Area (g feet)
No_ of employect
Total wapes ( Ilu.)
Value of plant (1te.)
Valne of stock (1)
Appottion averhead

A [} ;

1500 1100 Y00 AN

200 150 100 A0

GO000 40000 10000 20000

240000 1K0000 120000 (0000

150000 90000 60000 e
w on caquitable biele 1o Alfferent departmentt,
5 Jollowlnp dati wete obtained from Books of Light Ingineering (‘ompany for ikt yenr ¢ sded on

Ques. 2.
100 98
Colenlate deparmental overheads tecovery 1ale for each of production do aseanning, that ayerheads 1o
yecovered nan percentage of woget, , '
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ch:lir.'::m(lmainlcnmuc. 1200 ucncml0vc1l|c:|d.'; , 10000 ‘
Apportion cxpenses of department K in ralio of 4:3:3 and that of department v in ratio of direcl wapes.
Ques. 3. Ina factory of B Itd. I}ﬂﬂg@uﬂgﬂmlm‘iﬁjiﬁr_c;w‘__ ,,,,,,,,, e ———
=1 “production deparinenti T Service department,
Particulars - AL ~ B _____,v_,,__A_”___)f — Y
Rs. e I .} E— Rs.
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Ditec wages w0 [0 oo |30 ——
Ditect eXpenses - s 22500 — T I—— 115 )
Indirect materials 6160 112320 — I L — 350
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" s S 48
ppHowS e Z; it ;% s
Light points o=t  p— o
Teor areassqlect e [ A B - e
‘:('].??:ri{-;{'}l}‘ti}ﬂ'zs__,__ “Janee 18000 _—
“The details of indirect expenses for 'lltIL period:

s
Staff welfare expenses 3600
Supervision expenses 3600
Powcer 7200
Lighting 3600
Depreciation 7200
Insurance asscls 600
Rent and rates 600
Repairs building 2400
Employccs insurnce 600
General overheads 480

120

Stores overheads
Computc departmental overheads.
L

rvice departments X and Y.

Ques. 4. A ncw cnterprisc itd. has 3 production departments A,Band Cand2 s¢
Following information is available -

Expenscs : Rs.
Rent and taxcs " 5000
Genceral lighting 600
Indircct wages 1500
Power . 1500
Dcpreciation on machine 10000
Sundarics 10000
Furiher information _ :
Particulars | Total A B. C X [i:‘
Floor spacc__| 10000 2000 2500 - . 3000 2000 5:00
Light points_| 60 . |10 15 - 20 10 5
Direct wages | 10000 3000 2000 3000 1500 500
Horse power | 150 60 30 50 _ 10 —-
Value of mac | 250000 60000 80000 100000 5000 5000
Works hours | — | 6226 4028 4066 Co - —
Expenses of department X and Y are apportioned as followed -
Inter service transfer table

A B C X Y
Dept.X 20% 30% 40% 7T 10%
Dept Y 40% 20% 30% 10% - |

st is Rs. 50, labor cost is Rs. 30 and it passes through dept

What is the total cost of an article if its raw material co
A, B and C for 4, 5 and 3 hours respectively.

A
]

Ques. 5. The Indian Company ltd. has 3 production departments - A B and C and 2 service departments X and Y

Following information is available --
Power Rs. 2400
Rent 4200 '
Canteen 3000
3000

Personnel dept

Time office 1000

Maintenance of building 2400

Fire precaution service 1200 -

Insurance on assets . - 1000-. ' . .
10% on capital value .~ -

Depreciation

Scanned by CamScanner



Particulars A o ¢
Arca - 5q Ret o ”',".'m.\"‘t 0
Kw s ) = 2000 ¢ \" nf""“
No ofworkerss %0 120 = r:.:_ﬂ onses
| Capyameofasscts (laes) (050 [ 000 | 040 power
Services of X and Y are used by other departiments in following proportions ”gh“[ ;
A B C X Y Galari
Dept. X 259%  30%  25% - 20% Lubri€
Dept.Y 0%  20%  30%  10% - ReP®
Calculate total overheads of production dept after reapportioning tho service dept overheads. pep”
Qut'
Ques. . A company has two production department and two scrvice departments. The data relating to a period arc M‘.‘
as under: Il)ll
Production depariments scervice departments \ L
rDh, rD, SD, . SD, (
Dircct materials (Rs.) ]O000 40000 10000 20000 “
Ditect wages (Rs.) 95000 50000 20000 10000
Overheads (Rs.) 80000 50000 30000 20000 £
Power required '
at normal capacity (kWh) 20000 35000 12500 17500
Actual power
consumed (kwh) * 13000 23000 10250 10000 )
The power requirements of these departments arc met by a power gencration plant. The said plant incurred an &
expenditure, which is not included above of Rs. 121875 out of which a sum of Rs. 84375 was variable and rest
was fixed.
Afler apportionment of power generation plant costs to the four departments, the service department overheads are
to be redistributed on the following bases: :
D, PD, SD, SD. .
SD, 50% 40% - 10%
D 60% 20% 20% - !
_\’ou are required to: ' =
l) apportion the power gencration plant costs to the four departments
") reapportion the services departments cost to production departments
111) calculate the overheads rates per direct labour hour of production dcpartments given that the direct wages
of PD, and PD; arc Rs. 5 andRs. 4 pcr hour resp.
Ques.7. Compute the machine hour rate form the following information —
Rs.
."C.'li$'/"(if)7'l'{'1'cf}f))lf e JOOOOQ =
Installation charges : 10000
[estimated scrap after 15 yrs of life 5000
Rent and razes for shop p.in. 200
General lighting for shop p.m. 300
Insurance premia for machinery p.a. 960
Repairs and maintenance of machine p.a. 1000
Power consumption 10 units per hour
Rate of power per 100 units ) 20 .
[ostimated working hrs p.a. . 2200
- this includes setting time of 200 hrs
Shop supervisor salary p-m. 600
Machine occupies /4" of the total area. The supervisor is expected fo devote /5% of his time to machine

supervision.
Ques. 8. From the following information of Textile I'actory Machine Room, c:ompute machine hour rate, assuming
that machine room will work on 90% capacity throughout the year and that a breakdown of 10% is rea, .s‘m;nb le

) R '-'., . _ 3
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There are 3 d]y.l' hn’hfny on ;ﬁ::ﬂ", 2 n'ny.c lmh':l(ry on holi and 2 lf(l)'S haﬁllay on (‘hr!."flnnx, these hoh‘dﬂys dre

evelusive of Sundays. The foctory works 8 hours a day and 4 hours on Saturday.

——

No. of machines - all of same fype 40
IXxpenses per annum- Rs.
Power 3120
Lighting 640
Salaries of foreman 1200
Lubricating oil 66
Repairs of machines 1446
Depreciation 785.6

Tiod ape Ques.9 The following information is given —
Materials used Rs. 72000
Direct wages 60000
Hours of machine operation 20000

) Labor hours worked 24000
Overheads chargeable to dept 48000
On one order carried out in the dept during the period, the relevant data were —-
Materials used . Rs. 4000
] Labor hours . ’ 1650 y

Direct wages Rs. 3300 ‘
AMachine hours 1200

Prepare a comparative statement of cost of this order by using the following three methods of recovery of overheads

- direct labor hour rate
- direct labor cost rate

- machine hour rate TN
of Iorg e B2

Ques. 10. A manufacturer has two identical large and four identical small machines. Each large machine occupies
1/4* of work shop and employees fully 3 workers and each small machine occupies 1/2 of the spacg{and employees 2
workers. Workers are paid on piece rate basis. Each of 6 machines are estimated to work for 1440 hours per annum
while effective working life is taken as 12000 working hours for cach large machine and 9000 working hours for

- B cach small machine,
Large machine cost Rs. 20000 each and small machine Rs. 4000 each. Scrap vajues are Rs. 4000 and Rs. 100 for

large and small machines resp.
Repairs, maintenance oil expenses are expected to.cost_for each large machine Rs 1000 and for each small machine

Rs. 1200 during its estimated life.
Power consumption cost is 5-paisa per unit and._accounts for a large machine 20 units per hour and for small

machine 2 units per hour. ) _
Manager is paid Rs. 4800 per annum and work shop supervision occupies 1/2 of his time which is divided equally
among 6 machines.
Other expenses are
A Rent./ rates.fowork shop. Rs..6400. per anmon
Lighting (fo be apportioiied in ratio of-\mrker.SLe‘:‘ma!é:vyez!}—R—.s‘.\—l8530199anum—~
Taking a period of 3 months as a basis, calculate machine hour rate for a large and a small machine separately. \
he moackins Can vk wor's

§ % unI’r,':S or?-u‘d’ﬁf‘- wg“:t‘l‘éewd)

Ques.11. The machine shop of a manufacturing concern has ﬁ}denticnl machined manned by 6 operators. b}g“téml

cost of the machines is Rs. 800000. The following information relates fo six monthly period ended 30 September
. e e ——ees

2000.
Normal available hours per month 208 .

Absenteeism (without pay ) hrs per month 18

Leave (with pay) hours per month 20

Normal idle time hours per month 10

Average rage of wages per hour per operator Rs. 2.50

Production bonus 15%6 on wages

Power and fuel consumption Rs. 9000 o
Supervision and indirect. laboyr. "Rs. 3300 - -

Electricity, lighting —~ ~ . Rs. 1200 ..

Repairs and'maintenance pér annum - "3%.of machine value™ - i
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S1ran,

) anmnum
‘]” rec iahon I‘l" annum

( I[ coxf o
)” l,'lﬂl , N1 J Hd
' ] fl ach mac/uy
J”.“.l,“l"rl.'" (‘hﬂ’ Ces ]‘( 4 ’"l?(‘hf"‘
1 XTrmale scrap r
‘ d ﬂi 1‘( "T(T(‘}”"('

\’()f ce

B nicnan )

Lan » hours per machi

Setttng up 1t J achine

}n.vurnncr r F

P premium on machine
0, t‘rfmn_mmprinn per machine

Rate o power per 100 umts

stimated i
re, ]
cpairs and raintenance

Ques. 12. Th
- 2. The .
Jollowing information belon,

E. sfimg

- e . .

a0 limntcg :'_nr. k{ ng life per machine

Estimoted wor f'»"'“ weeks for the shop 1
orking hours for cach machine

Allocan,
ed fa
C nlculn!riv;:-‘;r'-v "\I‘rrhr,,‘ Is per annnm
hine rour raf !
ate. Cana p-LUI\u. e

wr annum

Jfor the shop

Overh
crheads chargeable to machines

i(?'cnl and rates _for the shop
,:rcncml lighting for the shop

.Q o’. of shop supervisors

Salary of cach supervisor

Nf’ of attendants ' '

n ages of each attendant

H ages of mechanics

Lubricants, cottonwaste, chemica

Required:

C ompute the machine
i
ii.
1l
iv.

if the setling up tinc i
if the setling up fime i

Ques. 13 Gemini enterprises und
machine and also the nuse
annum. The expenses regard,
Rent for the quaricr
Depreciationt per amnan
Indirect charges per annun
. During-the [first o

: Jo
< the machine Was1

No. of hour.
ithout the conypter

wi
with the computer

rcquirnl fo compulc the
o as whole for the

dividual jobs.

You are

Forthe fi
For the in

hour rate in ecach

if the setting up lime is pro
s proc

s unproduc

if the ~etting up 1ime is vnp

criakes thre
of a computer. The compi
e are estimale

ing the mac:
.RJ

iz of operalion:.

ised:

Is efc.

of the Joll
Juctive e
Tuctive an
tive
roductive ane

il
17500

Rs. 200000
Rs. 150000
the following

A

600
400

nachine hour rale:
month when the compnte:

a relates 10 @ mamfactiri

Ques- 14. The Jollowing dat
Budgeted data
Pirect mnlerial.r Rs. 100000
Direc! Jabour Rs. 200000
Producnwt uver/teads Rs. 200000
Direct Jabor hrs. 50000
Afachin€é Jrours 40000

o8 of SiY machine @
= Rs.

per week

owing Cases:

] curren

dnoc
but cnrrent is
110 current i I{

e different job

otails were Jakelt from the jo
B c

Rs 42000

1094 (':f()l'i_lf
Ks. 75670

1o,

came 0 e
1

Rs. 101 w0
(& 2(7()()
10)e@S
50 weeks

44
200
5%

196 01 originnf cosl
14.25 units per Jotr

Rs.

2
Rs. 300 p_m.

2
Rs. 240 per vk
per month

{is taken during the
(aen duriv the setting 1P "

taken during the seiting 4o time.

oken duiing the setting VP finie

and C. All of
the hire charges !

them require the use of @ special
york ott 10 Rs. 420000 per

s, A B
fer is pired and
d as follows:

b.register;.............._....._..........

9200
600

1000

mputer was not used.

was nsed and when the co

» a period:
Actual data
Rs. 140000
Rs. 250000
Rs. 230000
62500
50000

ng department Jo

inal cost
{
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period. The actual data relating to this job were :

}( Job RQ was one of the jobs worked on during the

Dirvet materials Rs. 6000

Dircet labor Rs. 3000

Direct labor hours 750

Machine hours 750

Rl'f,‘lfirl'l'.'

1 Production overheads absorption rate based on
- direct materials cost

- machinc hours e rates
2 Prodhction overhead cost 1o be charged to job RQ based on th - );-0(
KA Assuming machine hour rate is used, over or under absorption o I

stale their appropriate treatment in the accounts.

5. The policy of the factory
ket rale based on the percen

calculated above.

luction overheads for the period and

production

is to recover the
ads

Ques. 15. A factory has three production department tage of total factory o

overheads of the entire factory by adapting a single blan

to total factory wages. The relevant data for a mon thare: ___’_'.-—1 T
Department Direct materials| Directwages Rs| Fi acfo_g_ overhea __,er_e_'g_‘_qé?_’_hf_ Machine 1ol
Budget

Alachining 650000 80000 360000 iggggo

Assembly 170000 350000 140000 50000

Packing 100000 70000 125000

I

Actual
Machining ' 780000 96000 390000 zgggg

ssembly 136000 270000 84000 9 0

Packing 120000 20000 135000 6000

the month are as under :

he detail, ‘ob no. 123 produced during
The details of one the job no. 123 producetd « g Sachine hours

Deparfinent Direct materials Rs. Direct wages Rs. Direct labor hours
AMachining 1200 - 240 60 180
Assembly 600 360 120 30
Pucking 300 60 40 -
The factory adds 30%% on the Jactory cost to cover adrim. and selling overheads and profit.
Required;
the current policy of the company and determine the sclling

- caleulate the overheads absorption rafe as per
price of the job 123
- suggest any suitable alternative method(s) of absorption of the overhe

them
- determine the selling price of the job 123 on basis of rates suggested

- Calculate the departmentwise and fotal under or over recovery
palicy.id the. melhods sugeested bY Yol i i

ads and calculate the overheads rate on

of overheads based on the company’s current

Qwes.16. Overheads recovery rate given on dircct labour cost is 184%
In 1995 costs recorded arc -
Dircct labor cost Rs. 92000 )

Factory overheads Rs. 147200

Further information --

Stock of WIP nil

Stock of finished goods ~ Rs. 30000

Cost of sales Rs. 62000 ¥

Determine amount of under / over absorption and pass entry 1o deal with the same.

Ques. 17 Bflbl):]ll industrics absorb factory overheads at the rate of Rs. 2.50 per direct labor hour.
Both opening and closing balances of WIP and finished goods inventories are zero.
Following information -- -

D!'rccl labor hours uscd 50000
Dircct labor cost - RS. 100000 oo i
Indircct labor cost Rs. 25000. - . . - - ' .
) .
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) under or ovg
]“‘I’TCC! Malenials cost Rs. mogg d quUled and

CPreciation of plant and cquipment Rs. 50000 ads irlcurl'l?d an
Mise. factory overheads i 500| tc factory overhet
Assuming a1y s by 1d, calculate I

Al goods produced have been sold,
Tecovery of overheads.
: OWS -

Ques13 Budget of a machine shop for 1994-95 15 :154[;“
Normal workin g hrs / week 5
No. of machines l ) .

0. of weeks in year X achinc

n
; hrs per!
Irs spent on maintenance in a week - normal loss of ime 5

' 5000
slimated anmual overheads Rs. 33

istlrmlcd Wage rate Rs. 3 per machine hour

ctual figures of a 4-week period in 1994-95 are

00
Overheads incurred Re ;‘1280
Wages paid -y 400
Maching hrg operated »:

@lculate overheads recovery rate per machine hour

= ‘over/under absorption of overhcads. £ VUO#L" )

Ques.19. The ac
the rate of Rs.
500 units were

duc to operational cfficicney or inefficicncy.

i i atment in
i te their appropriate ure
Calewate the wnder / over absorption of production overheads for the peried and sia P
Cost accounts.

i determined
Ques. 20. Sweet Dreams Ltd. uses a historical cost system and absorbs overheads on the basis of pre

rate. The following data are available for the year cded 31/3/01:

Rs.
Manufacturing overheads _—- 170000

Amount actually spent {’//F—I 50000
Amount absorbed .——

Stock of finished goods-———— 96000
Works in progress - ————-———48000

Using two mcthods of disposal of under absorbed oy
under each method.

—_—

i

Cotton waste dnd sundries

Salarics of foreman and supervisor ( they
machine and remai cr is equally devoted 1o the
The machine was purchased for Rs. 50000 45
10 ycars.

|

vole |
I machines)

{ is assumed from past cxper\ience that
machine will work for 2300 hours Per annum
it will necessitate an expen g”c OF Rs. 17250 towdq
it consumes 5 units of power ; 3 cost of 15 pais :

per

tal total expenditure of a light enginecnng Co"‘f;'l
2 per hour at normal capacity of the factory. Out © 0
in progress. Actual hours werked was 284'_?56. Sixty p
applied overheads was due 1o fluctuations in materials priccs an
this accounting period and the company lost Rs. 50000 of whi e
balance represented loss of materials stored in the godown. A'Sllm o bt;,l
during the strike period. The balance amount represented the difference

~=—Ques:21- Eompute machine hour rate from the following -
Rent of dept (space occupied by the machine 1/4™)
Lighting ( no. of men in dept is 15,3,
Insurance

any was -
0000 uru

336000 coit of Guer Sold

d labor rates. .Ther
¢h the building gccounp

0000 was S '
-]vcan the actual and applied overheads

1Cn are engaged on thig nachine)

; _ Rs. 400
13 of their lime on (hig

slimateq SCrap is Rs. 4000

-

Rs. 6000
Rs. 2500
Rs. 600

Rs. 35850

>

Rs. 675912. Overh
s produced only 8
rcent of the difference be

Estimateq w

eads were recorded at
000 units were sold.
tween the actual :!nd

as a fire in the factory during
s ted for Rs. 30000 and the
aid as wages 10 workmen

erheads show the implications on the profits of the company

orking life of the machipe is

TCPAIrs and
o Maintenance Uuoug,houl 1s life
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